Angles of Any Magnitude

Y4 90°

(i)sin260° =—-sin80°  (ii)tan 220° = tan 40°
] |\\ = ~0.9848 —0.8391
: - (iii)secl05” =—sec75’  (iv)cos430° =cos70’
0 \ TFo i036oo =—3.8637 = 0.3420
1| v (v)tan(-67°) = tan 293’
\O =—tan67’
210 — —2.3559
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(vi) Find the coordinates of P

X cos30°
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X =5c0s30°
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\/ X sin0°=0 sin90° =1
270° cosO° =1 ¢0s90" =0

tan0° =0 tan90° =+
0

undefined

180°
sin180° =0

4R

cosl80° =-1 c¢0s270° =0

tan180° =0

=
X
270°
sin270° =-1
tan 270" = _—1
0

undefined



Trigonometric Graphs

plot boundary values

domain :all real x
range:-1<y<1
period: 360°

odd function

sin(—x) =-sinx

y = COS X

VY

domain :all real x
range:-1<y<1
period: 360°

even function
COS(—X) = COS X




x<Vv

domain: all real x except x =90+180k, where k is an integer
range: all real y

period: 180°

odd function

y Y = COSECK tan(—x) =—tan x
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